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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it)  Question paper is divided into five Sections — Section A, B, C, D
and E.

(iti) Section A - Question Nos. 1 to 17 are Multiple Choice (MCQ) type
questions. Each question carries 1 mark.

(tv)  Section B - Question Nos. 18 and 19 are Source based questions. Each
question carries 3 marks.

(v)  Section C - Question Nos. 20 to 23 are Short Answer (SA) type
questions. Each question carries 3 marks. Answer to these questions
shall be written in 80 to 100 words.

(vt)  Section D - Question Nos. 24 to 28 are Long Answer (LA) type questions.
Each question carries 5 marks. Answer to these questions shall be
written in 120 to 150 words.

(vit) Section E - Question Nos. 29 & 30 are Map based questions. Each
question carries § marks.

(viit) In addition to this, NOTE that a separate question has been provided
for Visually Impaired Candidates in lieu of questions having visual
inputs, map etc. Such questions are to be attempted by Visually
Impaired Candidates only.

(ix) There is no overall choice given in the question paper. However, an
internal choice has been prouvided in a few questions in all sections other
than Section A.

SECTION - A
Question Nos. 1 to 17 are Multiple Choice Type Questions. 17x1=17)

1. Choose the correct option to fill the blank :
By 2050, the world population is estimated to live in urban areas is ) 1
(A) One fourth (B) Half
(C) Two third (D) Three fourth

2. Which of the following statements are correct related to underground
mining method ? Choose the correct option : 1
1. It is used when the ore lies deep below the surface.
1.  Itis the easiest and cheapest mining method.
ui. It requires specially designed lift and drills.
iv. It is also known as shaft method.
Options :
(A) Only 1, 11 and 111 are correct. (B) Only 11, 111 and iv are correct.
(C) Only 1,111 and 1iv are correct. (D) Only 1, i1 and 1v are correct.
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3. Identify the statement applicable to outsource receiving country. 1
(A) Highly paid executive class workers.
(B) Availability of cheap and skilled workers.
(C) Outsourced to highly developed countries.

(D) High per head cost in outsource receiving countries.

4. Arrange the following major airports along western coast of America from
south to north direction as per their locations and choose the correct option :

1. Mexico City 1.  Vancouver
1i. Santiago iv. Lima 1
Options :
(A) iv, 11, 1 and 1 (B) 111, 1v, 11 and 1
(C) iv,ui,1and 11 (D) 111, 1v,1and i1
5.  Ports concerned with transportation passengers and mails are called . 1
(A) Commercial Ports (B) Inland Ports
(C) Ferry Ports (D) Naval Ports

6. Arrange the following copper mines of Rajasthan from north to south as
per their locations and choose the correct option :

1. Bhilwara 1.  Khetri
uni. Udaipur iv. Alwar 1
Options :
(A) 11, 1v,1and 111 (B) 11, 1v, 111 and 1
(C) 1iv, 11, 1 and 1 (D) 1iv, 11,1 and 111
7. “Some wastelands are rendered unfit for agriculture by human activities.”
Choose the correct option related to the statement :
1. Shifting cultivation area 1.  Coastal plains
1i. Degraded pastures iv. Bhabar areas 1
Options :
(A) Only 11 (B) Both ii and iv
(C) Only i1 (D) Bothiand i
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(B) @M (A) 7T (R) HEl &, Tifehd (R), (A) 3 &8l e 781 2 |
(C) (A)T&g, Aot (R) T 2 |
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TSI 8T oh TUH =07 o 40101 & fored bt ug=a shifse | 1
(A) SEeTR (B) SR
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frefafaa @ @ g i 31 sfean fafies (o) & q& 3eva 1 team hifse 1

(A) 319 feai 7 Wehfaeh 19 1 IREed Td =9 T |
(B) T8 T THERIUT 3R Torfir= U=} ol 3TTeeH T |
(C) Tehfcieh 718 <1 TTEEH, THEhTUT 3R foau ST |
(D) 3Tk AW o ToTu WeTa STehfceh 714 <6t farsht & |
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Choose the correctly matched pair of areas and their characteristics from

the following : 1
(Areas) (Characteristics)

(A) Jhabua District - Bhil Tribe

(B) Daurala Meerut - Gaddi Tribe

(C) Bharmaur Tehsil - Dilapidated Houses

(D) Dharavi Mumbai - Groundwater Pollution

Identify the unit to measure sound from the following : 1

(A) Particles per hundred (B) Decibel

(C) Particles per thousand (D) Nanometer

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1

Assertion (A) : All manufacturing industries are associated with raw
materials.

Reason (R) : Resources are essential for human survival.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s incorrect.

(D) (A) 1s incorrect, but (R) 1s correct.

Identify the district of first phase of construction of Rajasthan canal. 1
(A) Jaisalmer (B) Barmer
(C) Jodhpur (D) Ganganagar

Identify the main objective of Gas Authority of India Limited (GAIL) from
the following : 1

(A) To transport and store natural gas at its depot.
(B) To process and allocate natural gas to different states.
(C) To transport, process and market natural gas.

(D) To sale, stored natural gas for greater profit.
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64/1/3 Page 8 ~



WP collegebatch con

13. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1

Assertion (A) : Water transport plays an important role in the
international trade of India.

Reason (R) : The east coast of India has more ports than its west coast.
Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s incorrect.

(D) (A) 1s incorrect, but (R) 1s correct.

14. Read the following facts about ‘Swachh Bharat Mission’ carefully and
choose the correct option : 1

1. It is a part of urban renewable mission.

1. It is launched by Government of India.

mi. It is associated with improving greenery in urban areas.

iv. It is aimed to improve quality of life in urban slums.

Options :

(A) Only 1, 11 and 111 are correct. (B) Only 11, 111 and iv are correct.
(C) Only 1, 11 and iv are correct. (D) Only 1, 111 and iv are correct.

Read the following table and passage and answer Question Nos. 15 to 17 :

International Comparison of Human Development
Human Development Categories

Level of Human Score in Development
Development Index

Very High above 0.800

High between 0.700 up to 0.799
Medium between 0.550 up to 0.699
Low below 0.549

The priority of countries with high level of human development is
providing education and healthcare. They are investing more in social
sector. Altogether, a higher investment in people and good governance has
set this group of countries apart from others.

Countries with medium levels of human development have emerged in the
period after the Second World War. Many of these countries have been
rapidly improving their human development score by adopting more
people-oriented policies and reducing social discrimination.
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15. A fershT o qem T arel eu # 31fereh gum fafeagm@z | 1
(A) o geteq fife=i g (B) Uiere Hafed Hifaa gra
(C) 3mefes o1 3menfa Hifa= g (D) TS 3T it gry

16. Tr=fcifaa # € S 91 37 A fohrE Gaehieh o HeAH 20ft o HHIL 1 ST 3 ? 1
(A) 0.049 (B) 0.099
(C) 0.149 (D) 0.199

17. 3= OHd fIehd 9Tl ¢2Ii o A1 Had Hawaqul i AT B R | 1
(A) I ek | 3iftehan o (B) T &1k 1 3AfYenad faaw
(C) 3itEnfiren foshr o tfeehan Fowr (D) iy foshm o atferspaw fawr

Qg -@
U9 G118 TS 19 G- Y & | (2 x 3=6)

18. fr=feiiaa srg=ee 1 eayds ufeu 31 35 = feu e e & 3w fofan :
Tk AR <l feafa

MR 2] STfTEATT B! Wiet 1 SR Teh SATIR ST SR IGRIHWT b & H FHT
SITT & | IE 1 AR 3Taiet S8 FmT Yosh sl BeTeRt foharm SITaT 2 | wRe] 3me] T
13T & fceret i % T SR IgrieRr aeft Ty | aegei 3T e & fae
ST S LT ¢ |

ST 3R Tk SATIR forehrasiiel ¢l shl sTefeawenaii sl 34 W iaga Yfded
TId §Y AT 3¢ TSR o FHM R 7 ¢t g TE | TWIfad ot ehd & | IREET T8
H A < foehrd & A € gl U et wged <kl sre s id § U g &l a
Ugd Tehel & | fohg g SHTIR 1 Shaet WU < o GRT & STSIRI ohl 3T T& of S
=feg,
Hfceh ferpfira il =l =TTET foh o 379+ T % SIS b foreeft I & weféra @ |

STt <l oft S9 <1 TS TEGIT W Tceh Te <hl TR &, FiTeh Geh SATIR o T 58 ThR
1 T o oh1 9 oh 715 TEGU TR SIGeh] ol JhaH Tgdl Fehdl & |
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15. Greater improvement among the medium level of human development
countries is marked by i 1

(A) Development related policies (B) Environment related policies
(C) Economy oriented policies (D) Society oriented policies

16. Which one of the following score of human development index shows the

range for Medium category ? 1
(A) 0.049 (B) 0.099
(C) 0.149 (D) 0.199

17. The most important factor applicable with high human development
countries 18 1

(A) maximum investment in social sector.

(B) maximum investment in service sector.

(C) maximum investment in industrial development.

(D) maximum investment in agricultural development.

SECTION -B
Question Nos. 18 and 19 are Source Based Questions. (2x3=6)

18. Read the following passage carefully and answer the questions that follow :
Case for Free Trade

The act of opening up economies for trading is known as free trade or trade
liberalization. This is done by bringing down trade barriers like tariffs.
Trade liberalization allows goods and services from everywhere to compete

with domestic products and services.

Globalisation along with free trade can adversely affect the economies
of developing countries by not giving equal playing field by imposing
conditions which are unfavourable. With the development of transport and
communication systems goods and services can travel faster and farther
than ever before. But free trade should not only let rich countries enter the
markets, but allow the developed countries to keep their own markets

protected from foreign products.

Countries also need to be cautious about dumped goods; as along with
free trade dumped goods of cheaper prices can harm the domestic

producers.
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(18.1) ‘“SATIR I’ T 31 T8 HIT | 1

(18.2) ‘uSelihol 3N ‘b AR A forhrasiicr guit shi Srierawenaii i fhd TR
JuTferd feham 2 2 1

(18.3) Gk AR’ o FhNIcHb JATa § = o foTu fererrarsiicl <umi ol &R et =nfey ?
T2l €1 3UTH T Sooi@ i | Y+ =1

19. ‘HATRaTs IREEEIdiE el AHtaE 1 eI Hife 3R 39 9 o e e i %
I ferfgu |

120° 130° 140° 150°E

10°

207 ¢

309

110° 120° 130° 140° 150°

(19.1) TETEIT & form W H 38 {7 -oired fa 8 2 1
(19.2) 38 ITHTT o TRMI ol TeaH hIfce ST ‘A’ duT ‘B h ®ad Afa g | %+ %=1
(19.3) 38 {oTHT < Had g9 31 el ufvem ¥ fra R o el o T forfew |

a+le=1

e : FrafeRaa w1 hee gferia whefi < fae s @ 19 F MW R |
19. ‘HAreforams urmsTdia tmnt 6 foredt i fersiwanati w1 oo ifor | 3
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(18.1) Explain the meaning of ‘trade liberalisation’. 1

(18.2) How have ‘Globalisation’ and ‘free trade’ affected the economies of
developing countries ? 1

(18.3) What should be done by the developing countries to protect from
negative impact of ‘free trade’ ? Mention any two steps. Yo+1le=1

19. Study the map of ‘Australian Trans-Continental Railway’ and answer the
questions that follow :
120° 130° 140° 150° E

10°

20°

..........

20

30°

o Py
.. Port Augus)
' port Pitie ¥ o1

309

—] 40°
TASMAN SEA| S

110° 120° 130° 140° 150°

(19.1) In which part of the continent this railway line is located ? 1

(19.2) Identify the stations of this railway marked as ‘A’ and ‘B’. Y%+ %=1

(19.3) Write the names of stations located at the eastermmost and
westernmost end of this railway. Yo+1le=1

Note: The following question is for Visually Impaired
Candidates only in lieu of Question No. 19.

19. Describe any three characteristics of the ‘Australian Trans-Continental
Railway’. 3
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Qg -7
T EEAT 20 § 23 -390 ThR < T § | (4x3=12)
20. (a) “Wehfd I U FfeeTar ¥ 30 H IS FU & |7 39 HUA 1 fawers Hife | 3
e
(b) “HI Yehfcl YeT 1T T ITAN HLAT & |” 38 HH 1 foweror Hifsr | 3
21. B IH R S WA o IANT H 3TN Fgd I T8 HIT | 3
22.  “UZITTIH =l et GHT el ST 2 |” 30 e shl ST hifT | 3
23. Trmfoiiaa aiferept o1 eamYEes Ferem HIfT 3R 35 = feu mu weHt o1 3w fafew | 3
YR — TRIH 1 ¥grr 1961-2011
a8 TR/ | e sEen | paTiE | bl
Hepal sl G (&5 /) SHEEITHT % (%)
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 6,171 3,77,000 31.16 31.08

(23.1) forg STUHT Y H TR GG 6l Guehiy gig qod Al g H TR 7
(23.2) WRA H TRIT SHEAT 3hi F&dt g3 TG hl TG ST |
(23.3) WA ¥ fHRat Sl g TR <hl T o1 forgersor ST |

g -g
T3 GEAT 24 § 28 Fe-STHT THR T & | (5 x 5 = 25)
24. SHGE H 1 g i | forger Y e § aftadd o foe yad &
Waﬂavﬁqm?@ fere 2+3=5
25. (a) ‘Geg & e &1 aef ww i | foem % fau wigw & fes R
AT AT T foTeAN o SHIT | 1+4=5
JAYAT
(b) ‘weRr e &1 31 Wy Hifse | wER 87 T gufag s foe
TREISHT o TTOTTH] %1 Geaiieh hIfT | 1+4=5
26. (a) “YRdIE & A A TG AR THEE I GIH S9H o |19 S ghg 7 ot aieH
feam 3 17 Suzeh Rl % A1 37 HUH H gy HIfvT | 5
3AYAT
(b) “HB AT SR o Torq ATl ool o1 e ferehrar 21 @1 8 |7 SuFeh bl
EH 38 YU 1 g HIRT | 5
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SECTION - C
Question Nos. 20 to 23 are Short Answer Type Questions. (4x3=12)
20. (a) “Nature and human are intricately inter-wined.” Analyse the
statement. 3
OR

(b) “Human beings utilize the opportunities provided by nature.”

Analyse the statement. 3
21. Differentiate between small scale and large scale industries with examples. 3
22. “Petroleum is referred to as liquid gold.” Explain the statement. 3
23. Study the following table carefully and answer the question that follow : 3
India - Trends of Urbanisation 1961-2011
Year Number of Urban % of Total | Decennial
Towns/UAs | Population (in | Population Growth
Thousands) (%)
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,569,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 6,171 3,77,000 31.16 31.08
(23.1) In which census year, the decennial growth of urban population is
the highest.
(23.2) Explain the increasing trend of urban population in India.
(23.3) Analyse the continuous increasing trend of number of towns in India.
SECTION - D
Question nos. 24 to 28 are Long Answer Type Questions. (5 x 5=25)
24. Define natural growth of population. Describe the impact of migration on
changing population in the world. 2+3=5
25. (a) Explain the meaning of ‘target area planning’. Analyse the need of
‘target area planning’ for development. 1+4=5
OR
(b) Explain the meaning of ‘regional planning’. Assess the outcomes of
‘Integrated Tribal Development Project’ in Bharmaur region. 1+4=5
26. (a) “Indian Railways have facilitated the movement of both freight and
passengers and contributed to the growth of economy.” Support the
statement with suitable arguments. 5

OR
(b) “Indian ports have continuously been growing for successful
international trade.” Support the statement with suitable
arguments. 5
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27. (a) “Iam i Faferfd & fifvad w6 1 aiee ara seeet g e @ 1

ISTEWT HiEd 39 hH ol FRIId 38USY | 5
GO
(b) “30 HN R TR w@ s gl o THfig foman ST 7 17 e afgd 3|
Y I AR 38T | 5
28. (a) YIRA TIhR g Il T WIS AN - “S s=131 — S-erafl” & 3gvd1
ST IETET Tl GeaTehH shIfTT | 5
COCH
(b) <1 o Tl &rehi o s wgwIfirar <At Terrfes far=TaT w1 geumend ShifT | 5
TUE -
Y9 AT 29 T 30 WA UG W1 2 | (2 x 5=10)

29. feu T fova & Toifees T@T-amtes # |ra Wimifass aemi w1 A, B, C, D, E, F 3R G
& &Y H 3iferd feram T B | FrafaiRgd Seerl <t et @ foregl 4ie 1 ugee $ifsy
3T 37 TE W 37eh Gy Wi T8 T@nah W fafan 5x1=5
A, T gE G-I

T T AT

Teh IANeh STA-ATT

TeTaTEl TN T Teh Y@ &

TS I3[ T 1 Teh IHE &5

foreqa anforswr 3T Y 1 Tk yg@ &=

Tufira sy <1 U vg@ &=

QHED O

e : Trefafaa we7 Faa gfenfia wleii & fore w7 ge 29 & WA W E | fel
Tt & S AT ; 5x1=5
29.1  <fRAT 3T5hIehT o Y@ HHEI -1 o1 AW fIfaT |
29.2  RferT % Y@ AT 1 A1 fafaw |
29.3  3TAH TEETR sl T TEETR ¥ Se dlet HAT<leh JAunl sl AH
fetfae |
29.4  URMETE g 1 A1 frRae srEt W aetan usemr R S g |
29.5  gfeyur 3THTteRT o TS U[eH UTe o Y@ & 1 911 i |
29.6  IMEfer o Tereg amfoTsy ST iy &= 1 T forfaw |
29.7  37shieRT < fafya iy & o1 A forflau |
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27. (a) “The cost of transport plays an important role in location of

industries.” Justify the statement with examples. 5
OR
(b) ‘Dairy farming is practised mainly near urban and industrial
centres.” Justify the statement with examples. 5

28. (a) Evaluate the objectives of the social campaign ‘Beti Bachao — Beti

Padhao’ run by the Government of India with examples. 5
OR
(b) Evaluate the spatial variation of work participation in different
sectors in the country. 5
SECTION - E
Question Nos. 29 and 30 are Map Based Questions. (2x5=10)

29. On the given political outline Map of the World, seven geographical
features have been marked as A, B, C, D, E, F and G. Identify any five
with the help of following information and write their correct names on the
lines drawn near them : b5x1=5

A major sea-port
A major airport
An inland waterway

A

B

C.

D. A major area of nomadic herding

E. A major area of commercial livestock rearing

F. A major area of extensive commercial grain farming
G. A major area of mixed farming

Note : The following questions are for Visually Impaired Candidates
only in lieu of Question No. 29. Answer any five. 5x1=5

29.1 Name the major seaport of South Africa.
29.2  Name the major airport of Australia.

29.3 Name the inland waterway that connects Atlantic Ocean and
Pacific Ocean.

29.4  Name the Asian peninsula where nomadic herding is practiced.

29.5 Name the major area of commercial livestock rearing of South
America.

29.6 Name the area of extensive commercial grain farming of
Australia.

29.7 Name an area of mixed farming of Africa.
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30. feu T WA & THifoes W@r-wmtas § fefefaa gra wimferss @eron § 8 foel wia =i
Ik Tl g 3Afsha shifte 37k 3es am ferfau 5x1=5

30.1  =IIa9 SHEEA 9 a1el U9 (2011)
30.2 T 3cdTeH | 3t U5

30.3 TG H Ueh WY@ TYHI-T7H

30.4 SR@US Y AT G I Teh g

30.5 W YW ¥ HHIS @ 1 Th g
30.6  HENIY H Tg-37I%h G I Toh g,
30.7  HAlch U Th AL Ig-T<H

e : Traferiea w7 Faa givaTim el & foe s @@ 30 % @\ w g | Be
i < S AT 5x1=5

30.1  IaH SHEEA T (2011) ITet T o1 AW feafaw |

30.2 T IcTeH B 37vft U 1 A faRaw |

30.3 3| TN o A fetRau &t Tora § yg@ ayg-u<H fera 2 |
30.4 3W@ve # feq dfem T %g w1 W fofaT |

30.5  He WeW § TRy §S @ oheg o1 A1 fotfa |

30.6  HEWIY H fed g - 3%k @ g o1 AW foafau |

30.7 38 TN &1 A feiRau &t lesh # STy arg-uaH fra g |
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30. On the given political outline map of India, locate and label any five of

the following seven geographical features with appropriate symbols: 5x1=5
30.1 The state with the lowest population density (2011).

30.2 The state leading in the production of sugarcane.

30.3 A major sea port in Gujarat.

30.4 A copper mining centre in Jharkhand.

30.5 A manganese mining centre in Madhya Pradesh.

30.6  An Iron-ore mining centre in Maharashtra.

30.7  An international airport in Karnataka.

Note : The following questions are for Visually Impaired

Candidates only in lieu of Question No. 30. Answer any five.
5x1=5
30.1 Name the state with the lowest population density (2011).
30.2 Name the leading state of sugarcane production.
30.3 Name the place where major sea port is located in Gujarat.
30.4 Name the copper mining centre located in Jharkhand.
30.5 Name the manganese mining centre located in Madhya Pradesh.
30.6 Name the Iron-ore mining centre located in Maharashtra.

30.7  Name the place where international airport is located in Karnataka.
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